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Introduction
In this contribution, we present our view on the DL interruption for Tx switching across 3/4 bands with 2TAGs.
Discussion
Applicable RTD range and requirements
Since the agreed requirements are based on RTD <= 6us, a common range for application scenarios of this feature, UE may not be able to meet the requirements beyond this side condition. On the other hand, due to the round up in the agreed formula:
Interruption length = Ceil((switching period+2*TA adjustment uncertainty+2*RTD-CP length)/symbol duration)+1 (RTD is receiving timing difference across )
It is possible that when RTD is slightly larger than 6us, the requirement is still applicable for certain combinations of SCS and switching period. To allow better flexibility for operator deployment, it could be beneficial to provide this information implicitly on the specification. However, RTD>6us should not be considered in RAN4 RRM test scope discussion because we don’t have explicit requirements for that range. Based on the above discussion, we propose the following:
Proposal 1: Add the following note to the requirement derived by the side condition RTD<=6us:
The interruption requirements are derived based on the designated RTD range <= 6us as the side condition. The applicable RTD ranges of this requirement, when the RTD is larger than 6us, depend on the SCS and switching period.
RTD>6us is out of RAN4 RRM test scope.
Since round up provides flexibility of operator deployment based on the above discussion, we propose to keep the round up in all the interruption requirement values:
Proposal 2: Set interruption requirement in 30kHz SCS and 210us switching time to 8 symbols.
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Conclusions
Proposal 1: Add the following note to the requirement derived by the side condition RTD<=6us:
The interruption requirements are derived based on the designated RTD range <= 6us as the side condition. The applicable RTD ranges of this requirement, when the RTD is larger than 6us, depend on the SCS and switching period.
RTD>6us is out of RAN4 RRM test scope.
Proposal 2: Set interruption requirement in 30kHz SCS and 210us switching time to 8 symbols.
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